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QB RATING JE <fH#E#H 1o0mLE/HAE> (BRARIEAL)

lEGL |Trvy| KEH | S EFA A | SRS H| BT INT | YDS| TD [LoNG|RiZhE| RATING
1 T EBK 4 |20 #= 3 106 1 5] 935 7 63| 67.0 153. 4
2l T ITEHK 10 [Ef0 EA 4 79 43 3| 551 9 65| 54.4 143.0
3l T BiEHE 18 [/\K = 3 61 32 3 519 3 571 52.5 130.3
4 T EFEX 0 |/Kig 5 3 122 50 5] 680 4 571 41.0 90.4
5| T BAA 13 [)kKK =E 2 1Al 30 1 339 2 49| 42.3 88.8
6 T = F N 16 [k EFE 4 114 53 8| 580 3 63| 46.5 83.9

BRIBIE <FHE#H 10EEXF A HE>

IEfL [Tevs] X¥% | &S| EFE | P& [REB[RHK| INT | YDS| TD [LONG[RKIIE[ RATING
1 T BAA K 15 ¥ =X 2 54 33 41 295 0 471 61.1 92.2
2 T i F PN 7 X H#% 2 55 31 1 2178 1 29| 56.4 101.2
3/ T BiEH 12 |[BEx Z3)| 4 46 26 4 290 0 43| 56.5 92.1
41 T IR 5 | AX 4 23 18 1 201 4 24 78.3 200. 4
5| T SRR 8 |KiE ITh# 4 21 12 0 113 1 27| 57.1 118. 1
6] T EBEX 16 (X 3 36 11 2 116 1 23] 30.6 55.17
i T E PN 8 |BFE £ 4 21 6 3 54 0 28] 28.6 21.6
8| T E PN 12 |#%  FAER 2 6 3 0 119 1 68| 50.0 271.6
9l T MK 1 EX EBE 3 5 2 1 25 0 14 40.0 42.0
100 T EBEX 28 [A® X 3 1 1 0 28 0 28] 100.0 335.2
10 T BEREX 18 [IUFE ZEF 2 1 1 0 13 0 13[100.0 209. 2
100 T BfEA 30 |RE EBXH 2 1 1 0 -6 0 -6/ 100.0 49.6
13] T MEHK 15 |[#E fEsk 4 1 0 0 0 0 0]l 0.0 0.0
13] T BfEA 15 [ & 2 2 0 0 0 0 0] 0.0 0.0
13] T EBK 10 B X 2 3 0 0 0 0 o] 0.0 0.0
13] T i F PN 10 [E# BBk 1 1 0 0 0 0 0] 0.0 0.0
13] T AR 8 |tHlE fEX 4 8 0 1 0 0 0ol 0.0 -25.0
13] T E PN 17 |AM BN 3 5 0 1 0 0 0] 0.0 -40.0




